Ordre des Opérations (A)

2211417 +0.75
9 3 9
23+( _716 +0.6|=1.1

(—10)+((—33)—2§ 5.6
3 7

(1.7’—3%)+((—2)+5é

2+(—8.4)X3.8X—

2%><(4.8)3)+(—9)

2.6X2|[{-3=]|+2

1+| -3

| —

+(=3.1)+7

5 1
2-+15+2—+5
7 6

(—1.5)+(—1% +(—1.5)°

MathsLibres.com




Ordre des Opérations (A) Solutions

~1 1 )+0.75=—-31%
9 108

2l><(4.8)3)+(—9)=—26ﬁ
7 175

—16

+1.1=12 2.6X2
99

+0.6 3 |+2|=—6=

(\®)
| o
_|_
—_—

><5.6=8& 1+
137

=34+ (=3.1)+7=1—

10

, 2\ .6
(—10)7((—35)—27

95 5 1 41
- 2-+1.5+2—+5=8—
243 7 6 42

(1.7‘—3%)+((—2)+5§

L 1__19 1 243
2= 8.4)><3.8><8— 63 (—1.5)7(—1§)+(—1.5) =33

MathsLibres.com




Ordre des Opérations (B)
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Ordre des Opérations (B) Solutions

33-23-2 122 3 l4g+ls
R i3
2%+2%x%+2% 9+%— 3é+5%
%+5%+2%—% 3%+ 3%><§><5%
1% %:2 2?— %+2 +5%

MathsLibres.com




Ordre des Opérations (C)
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Ordre des Opérations (C) Solutions
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Ordre des Opérations (D)
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Ordre des Opérations (D) Solutions
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Ordre des Opérations (E)
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Ordre des Opérations (E) Solutions
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